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Rser=47

Vi C4

220p

R5

50k

R6

1k

R21

1k2

R3

390

Q18

2SA1381C

R25

56

C5

4700µ

C7

470µ

R36

10

C8

100n

R52

5

C12

39p

M1

ECX10N16
R1

220

M2

ECX10P16

C10

15n

C14

15n

R2

220

R15

22

Q2

KSA1015

R16

820

R17

135

C1

15p

C11

15p

C13

50µ

R18

220

C2

5p

C21

100n

C23

470µ

C25

470µ

C26

470µ

L1

1µ5

R22

4

1N4148

D7D8

1N4148

D9

D10

BZX84C12L
D13

BZX84C12L
D15

C22

2µ

R40

33

R41

33

2sk170

Q5

Q6

KSC1845

R7

100

R35

47k

Q4

KSC3503

R23

220.5

R34

20k

C9

100µ

Q3

KSC3503

R4

79

C6

100µ

D6

1N4148

D11

1N4148

D12

RED

R8

100

R9

100

R10

20k

C15

10p

R12

0.2

R13

20k

D1

RED

D2

D3

U1

LT1056

C16

220n

R14

1Meg

R19

1Meg

C17

220n

R20

20k

D4

1N4148

D5

1N4148

C18

470µ

C19

470µ

X1

TL431

R27

3k

15k

R28

R29

3k15

C20

22µ

X2

TL431

15k

R30

R31

3k15

C24

22µ

R32

3k

GNDI

G
N

D
I

G
N

D
I

VFB

V
F

B

Vout

Vout

Vout

In+
In

-

V
--

V
+

+

V++

V--

V
+

+
V

--

Vs+

Vs+

V
s

-

Vs-

+ BF     = 181.5           NF     = 1               BR     = 5.615              
+ NR     = 1               ISE    = 1.7378E-14      NE     = 1.5                
+ ISC    = 1.31826E-13     NC     = 1.5             VAF    = 56.5               
+ VAR    = 10.8            IKF    = 1.21            IKR    = 0.0524807          
+ NK     = 0.883           RB     = 9.5             RBM    = 4.72               
+ IRB    = 5.623413E-7     RE     = 0.56            RC     = 5.4                
+ CJE    = 1.7403E-11      VJE    = 0.777948        MJE    = 0.372295           
+ FC     = 0.5             CJC    = 9.70035E-12     VJC    = 0.523999           
+ MJC    = 0.283255        XCJC   = 0.45            TF     = 1.99E-9            
+ XTB    = 1.182           EG     = 1.1574          XTI    = 3               )

.include MYamp.txt

.param Vpsu 40

.include x2SC2240.MOD

.include x2SA970.MOD.include Cordell-Models.txt

.meas TIME_1 TRIG V(vin)=0 RISE=2 TARG V(vin)=0 RISE=3

.meas mag_vin rms V(vin) trig V(vin)=0 rise=2 targ V(vin)=0 rise=3

.meas mag_vout rms V(vout) trig V(vout)=0 rise=2 V(vout)=0 rise=3

.meas gain param 20*(LOG10(mag_vout/mag_vin))

.MODEL 2SK170 NJF(Beta=35.86m Rs=4.151 Rd=4.151 Lambda=1.923m

.model J2sk170 NJF(Beta=36m Rs=4.151 Rd=4.151 Betatce=-.5 Lambda=1.923m

.MODEL 2SK369BL NJF (VTO=-490M BETA=42M LAMBDA=1M IS=10F CGD=36.6561P

.temp 50

;tran .5

.options plotwinsize=0

.options numdgt=7

.param Freq=20k

.param numcyc=10

.param dlycyc=5

.param FFT=2**15

.param simtime=(dlycyc+numcyc)/Freq

.param dlytime=dlycyc/Freq

.param numsampl=simtime/Freq/((simtime/numcyc)*FFT)

.four {Freq} V(Vin) V(Vout)

.tran 0 {simtime} {dlytime} {numsampl}

MUR460

MUR460

Low Cob

Clead

Phase lead compensation - the trick here is not to over-do it. I've shown C27 at 10pF and you likely don't want to go higher. If anything you want to try a little less and you can also try it without C27. In practice, C27 reduces the amount of VAS compensation you might need.

(-)

(+)

65V Vce

170mA

;step param Rs list 100 130

.STEP TEMP LIST 25 45

KSC3503 7W

LTSpice will calculate the total THD twice: once computing all the harmonics, and secondly computing only the first 4 harmonics. 

Magic resistor
should drop around 200mV over R7
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